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RIASQL ERFSAL hESQL EREE

12 e

HiH10 X
adx_offline

SELECT ssp request.app.id AS appid,
v BIER Bl EIER COUNT (DISTINCT ssp request.device.adid)-1 AS =_count,0 as _count,
COUNT(DISTINCT ssp request.device.ip)-1 AS ip count,
v [@ adx_ssp_req_log COUNT(DISTINCT ssp request.device.ip||ssp request.device.ua)-1 AS ,_count
FROM adx_ssp req log
WHERE year=2019 AND month=05 AND day=04 AND ssp request.device.os = 0 AND selfad =

sspip GROUP BY ssp request.app.id

bidid

HAVING COUNT(DISTINCT ssp request.device.ip||ssp request.device.ua) > 1
delay OR COUNT(DISTINCT ssp request.device.adid) > 1
OR COUNT(DISTINCT ssp request.device.ip) > 1

status

cd

ct

selfad
ssp_request

@ adx_click_log

TREBER
@ adx_loss_log
@ adx_inmobi_log

[ adx_dsp_rsp_log

@ adx_twin_log

119248 150051
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CREATE EXTERNAL TABLE person (

name: john,
name string, age: 18,
. city: shanghai
age int, friend: [
city string, { name: mason
friend:array< éﬁ 1: ’/'g Hy&%i city: beijing,
> birth: 1995-03-12
struct< h
. {
name:string, name: julian
Raa city: guangzhou,
City:string, birth: 1998-10-07
birth:date ] :
}
>
>
)
ROW FORMAT SERDE ufile://bucket_name/logs/2019/05/12/a.9z

‘org.openx.data.jsonserde.JsonSerDe’

ufile://bucket_name/logs/2019/05/13/a.gz
LOCATION ‘ufile://bucket_name/logs/"

> ufile://bucket_name/logs/2019/05/14/a.gz

EI:EE UFi Ieﬁ‘ZE ufile://bucket_name/logs/2019/05/15/a.gz

ufile://bucket_name/logs/2019/05/16/a.gz
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adx_offline

SELECT ssp request.app.id AS appid,
v MIER BlREER v COUNT (DISTINCT ssp _request.device.adid)-1 AS «_count,0 as _count,
COUNT(DISTINCT ssp request.device.ip)-1 AS ip count,
v [@ adx_ssp_req_log COUNT(DISTINCT ssp request.device.ip||ssp request.device.ua)-1 AS i_count
FROM adx ssp req log
WHERE year=2019 AND month=05 AND day=04 AND ssp request.device.os = (0 AND selfad =

sspip GROUP BY ssp request.app.id

bidid

HAVING COUNT(DISTINCT ssp request.device.ip| |ssp _request.device.ua) > 1
delay OR COUNT(DISTINCT ssp request.device.adid) > 1
OR COUNT(DISTINCT ssp request.device.ip) > 1
status
cd
ct

selfad

ssp_request

@ adx_pv_log mHsaL v

@ adx_click_log
@ adx_loss_log
@ adx_inmobi_log
@ adx_dsp_rsp_log

@ adx_twin_log

119248 150051
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adx_offline

SELECT ssp request.app.id AS appid,
v B BliREIER COUNT(DISTINCT ssp request.device.adid)-1 AS «_count,0 as _count,

COUNT(DISTINCT ssp request.device.ip)-1 AS ip count,
v [3) adx_ssp_req_log

J

COUNT(DISTINCT ssp _request.device.ip||ssp request.device.ua)-1 AS ,_count
bidid FROM adx ssp req log
WHERE year=2019 AND month=05 AND day=04 AND ssp request.device.os = (0 AND selfad =
sSpip GROUP BY ssp request.app.id
HAVING COUNT(DISTINCT ssp request.device.ip||ssp request.device.ua) > 1
delay OR COUNT(DISTINCT ssp request.device.adid) > 1

OR COUNT(DISTINCT ssp request.device.ip) > 1
status

cd

ct

selfad

sSp_request

) adx_pv_log A BMETT THsaQL v
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